
XMOS behaves like MODE 1?

XMOS behaves like MODE 0?

https://en.wikipedia.org/wiki/Serial_Peripheral_Interface_Bus

XMOS behaves like MODE 2 (correct)

XMOS behaves like MODE 3 (correct)
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Answer ok = 0x24

Answer ok = 0x24

Answer ok = 0x24

No answer

"SPI_MODE_0"

"SPI_MODE_1"

SPI_MODE_2

SPI_MODE_3

all test with lib_spi 3.0.2

http://www.teigfam.net/oyvind/home/technology/165-xc-code-examples/#lib_spi
http://www.teigfam.net/oyvind/home/technology/165-xc-code-examples/#lib_spi
https://en.wikipedia.org/wiki/Serial_Peripheral_Interface_Bus
https://en.wikipedia.org/wiki/Serial_Peripheral_Interface_Bus

